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TE;;;ZDE PART-A : MATHEMATICS
1.  Which of the following are not pythagorean triplet. 1. f/=#% PITH UTSATIRS 37 781 € |
(1) 8,7,12 (1) 8,7,12
(2) 5,12,13 (2) 5,12,13
(3) 30,40,50 (3) 30,40,50
(4) 75,100,125 (4) 75,100,125
2. Whatisthevalueof 1+3+5+7+9 ... +25? 2. 1+3+5+7+9... + 25 T AT T 87T ?
(1) 196 (1) 196
(2) 625 (2) 625
(3) 225 (3) 225
(4) 169 (4) 169
3. If,f1+%=l+% than value of x is : 3. 3l 1+%=1+% Al x &1 A BN
(1)1 (1) 1
(2) 14 (2) 14
(3) 10 (3) 10
4) 12 (4) 12
4.  Which one of the following is a regular polygon? 4. {7 ¥ &9 Udh T4 BRG] g2
(1) Square (1) @t
(2) Trapezium (2) FHAG
(3) Kite (3) uarT
(4) Rectangle (4) 3mad
5. If Z/A and /B are two adjacent angles of a 5. AN agysl § LA 3R /B MG ®IvI ¢ | AT LA = 70°
parallelogram. If Z/A = 70° then /B =? al ZB=7?
(1) 70° (1) 70°
(2) 90° (2) 90°
(3) 110° (3) 110°
(4) 180° (4) 180°

Space for rough work
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6. The faces of triangular pyramid consist of 6. PByareRr ke AUSEA 8

(1) 1 square and 3 triangle (1) 1 o7 Jan1 3 s

(2) 2 triangle and 3 rectangular (2) 2 %Piﬁ qAT 3 STAATDIR

(3) 4 triangle (3) 4 %FﬂTrl

(4) 2 rectangular and 3 triangular (4) 2 ATIATDIN TAT 3 %PiGﬂEhT\’

7. Diagonal of rhombus is 8 cm and side is 5cm than 7. FHagH @1 fd®0i 8 cm TAT YT Scm B, T 8B B :
area will be :

(1) 20 cm? (1) 20 cm?
(2) 12 cm? (2) 12 cm?
(3) 24 cm? (3) 24 cm?
(4) 30 cm? (4) 30 cm?
8. The area of the quadrilateral is : 8. TGHSI BT &FH B :
D D
] C ‘ C
1cm P . 1cm x .
: b<°& 90“72 : uo& 90*72
E 3 E \
A B A B
(1) 8 cm? (2) 12 cm? (1) 8 cm? (2) 12 cm?
(3) 6 cm? (4) 3 cm? (3) 6 cm? (4) 3 cm?

Space for rough work
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9.

10.

11.

The degree of the equation x> - x> + 44 -3 = (x + 1)%is 0.
(1)1
(2) 2
(3) 0
(4)3

-2
The value of x in 3 =2X ig ? 10.

1
(1 -3

1
@ 3
@3
@) -3

4
then numbers are :
(1) 60

(2) 80

(3) 90

(4) 100

3

2
— part of a number is 5 more than its 5 part. 11.

CLASS - VIII

ZONE - 1

THHRor k% - %% + 44— 3 = (x + 1) H TG BN

(1)1
(2) 2
30
(4) 3
-2

?=2X H x T 919 8RT ?

1

(1 -3
1
@ 3

(3) 3
(4) -3

Wﬂ'@nwg U, T D % HRT A 5 31 g, a1 T

4
grft:
(1) 60
(2) 80
(3) 90
(4) 100

Space for rough work
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12. A perfect squre number between 30 and 40 is 12. 30 @140 & 12[%2111”? CURSEE
(1) 36 (1) 36
(2) 32 (2) 32
(3) 33 (3) 33
(4) 39 (4) 39
13. If angles of triangle are 3x—4, 2x-7, 4x—7 than find 13. I %FﬂTrl @ IO BT 7Y 3x—4, 2x—7 3R 4x—7 & I A
value of smaller angle BIC BT BT AT ST
(1) 44 (2) 62 (1) 44 (2) 62
(3) 37 (4) 60 (3) 37 (4) 60
14. The angle sum of convex polygon with no. of sides 14. 3<cf dgHdl @ DI BT AT, g ﬁGTGﬁ DT B —
7 angle
(1) 900° (2) 1080° (1) 900° (2) 1080°
(3) 1440° (4) 720° (3) 1440° (4) 720°
15. The lateral faces of the prism are : 15. T urd g g 2
(1) Parallelogram in shape (1) MMHR H FATR ﬂgﬁ\ﬂ
(2) Circle in shape (2) 3MHR H g
(3) Triangle in shape (3) 3R H By
(4) None of these (4) STH & PIS &I
16. How many faces a sphere has ? 16. Mo H T@[ 1 =T fha gl 8 2
(1) One (1) T
(2) Two (2)
(3) Four (3) @}
(4) None (4) DI &

Space for rough work
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17.

18.

19.

20.

An example of the cone is :

(1) Tube

(2) A tent

(3) A ball

(4) A box

The height of two right circular cylinders are the
same. Their volume's are repsectivley 16x m? and
81n m?. The ratio of there base radius is :

(1) 16 : 81

(2)9:14

3)2:3

“4)4:9

If base area of floor of room is 30 m? and height is
3m then its volume is ...................

(1) 900 m*®

(2) 90 m?

(3) 60 m®

(4) 138 m®

Two identical cubes each of total surface area
24 cm? are joined end to end. Which of the following
is the total surface area of the cuboid so formed ?
(1) 144 cm?

(2) 40 cm?

(3) 120 cm?

(4) 118 cm?

17.

18.

19.

20.

CLASS - VIII

ZONE - 1

3 BT TP SEIER0T §

(1) it

(2) T T+

(3) v dre

(4) T gad1

Q1 T GG de1 1 SdT8 FHIM & | S0 TRIAH 99T 167

m® T g1 m> B, T IR & Frsaaii &1 U BIm:

(1) 16 : 81

2)9: 14

(3)2:3

4)4:9

DR D B3 BT &FBA 30 m? B AT SHaATS 3m B, T AT

(1) 900 m?®

(2) 90 m*

(3) 60 m*

(4) 138 m®

Q1 A B R TR0l T &3t d 24 JH12 E, BT s
H SIS Sf1a 2 | fFrferlRad # & o991 §9 UaR a9 g1 &
gl s 5o § ?

(1) 144 cm?

(2) 40 cm?

(3) 120 cm?

(4) 118 cm?

Space for rough work
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21.

22.

23.

24.

25.
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Which of the following statement is false ?

(1) Natural numbers are commutative for addition.
(2) Whole numbers are commutative for addition
(3) Integers are not commutative for addition

(4) Rational numbers commutative for addition.
0 is not

(1) A natural number

(2) A whole number

(3) An integer

(4) A rational number

1.1 1| 3
—X—t—|+T==
[2 3 4} 2

1 L 2 S
(1) 15 (2) 15
®) 15 @ 16
5
What Should be added to 2 to get -1
oL o1
(1) -5 @ 5
3
@)1 @ -5

X is an odd number. The consecutive odd number
of X is

(1) X-1
(3) X-3

2)X-2
4) X - 4

21.

22.

23.

24.

25.

TEST CODE
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o & I P T B |
(1) WTapl e A & Agad gl 2 |
(2) goites 1T # AEed g 2 |
(3) guTtes AT # ATEad 7 Bl B |
(4) TR¥T = AT | e Bl B |
0E T
(1) Ueh Yrepel =1
(2) o ot wem
(3) TP LMD
(4) T uRHY e
{1 1 1} 3
—X—t+—|F=—=
2°3 4] 2
1 5
(1) 5 (2 7g
7 9
) 1g @ 15
-2 dAmmsierom A 1
1 1
1 -7 2 7
3
3) 1 &

Ife X o faud \¥=1 2, I 59! HHrTd faws wwe gl

(1) X - 1
3)X-3

2)X-2
4) X - 4

Space for rough work
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26. In the following equation, select correct 26. fr=fRad FHiHo H, * gl @1 95 &R FHIHIT BI
combination of mathematical sings to replace * Hferd & & forg AT TR & 21 G Bl 7 D |

signs and to balance the equation.

16%4*5%9%1 16%4%5%9*1
(1) + 5= x (1) + 5= x
(2) ++=x 2)++=x
(3)><+=>< (3)><+=><
(4) + x + = (4) + x + =

27. If - stands for division, '+ stands for subtraction, '+ 27. Ife '—' HAded ¥, '+' Adleld T4, '+ HATd oM, 'x' HTd
stands for multiplication, 'x' stands for addition, then I, B, 1 fFfalad § 9 eiar afiexr 98l 8?

which one of the following equations is correct?

(1) 70-2+4 +5 x 6 =44 (1) 70-2+4+5x6=44
(2)70-2+4+5x6=21 (2)70-2+4+5x6=21
(3)70-2+4 +5x 6 =341 (3)70-2+4 +5x6=341
4)70-2+4+5x%x6=36 4)70-2+4+5x6=36
28. In a class Rajan got the 11th rank and he was 31st 28. Udb D&l F 37514 7 1191 ¥ ured @Y 3R 98 SO EEEB\T Eal
from the bottom of the list of boys passed. Three ﬁﬁwﬁﬁ%ﬁméwww NEESIERIGIERE
boys did not take the examination and one failed. 3R Qe Bl Bl T | DeTl Bl el AT RIT 82
What is the total strength of the class?
(1) 32 (1) 32
(2) 42 (2) 42
(3) 45 (3) 45
(4) 46 (4) 46
29. Find the missing term 29. W U Hd DIFY |
Book : Publisher :: Film : ? forcra : T :: fhew : 2
(1) Writer (1) ol E®
(2) Editor (2) HUredh
(3) Director (3) Feor®s
(4) Producer (4) fmra

Space for rough work
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30. Diraction: Find the missing term

31.

32.

33.

34.

10:101::20:7?

(1) 200 (2) 201

(3) 400 (4) 401

Navin walked 30 meters towards East, then he
turned right and walked 20 meters. Again he
turned right and walked 30 meters. How far is he
from his starting point?

(1) 30 m (2) 80 m

(3) S0 m (4) 20 m

A walks 10 m North, then he turns right and walks
10 m. And then turning left each time, he walks
S km, 15 m and 15 m respectively. Now, how far is
he from his starting point ?

(1) 5m (2) 10 m

(3) 15 m (4) 20 m

How many days are there altogether in p weeks
and q days?

(1) (p + q) days (2) pq days

(3) (7p *+ q) days (4) (7q + p) days

What will be the day of the week 15th August,
2010?

(1) Sunday

(3) Wednesday

(2) Saturday
(4) Monday

30

31.

32.

33.

34.

TEST CODE
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e qw ug 9d S |

10:101::20:7?

(1) 200 (2) 201

(3) 400 (4) 401

I 94 @1 3R 30 Hex 7rel, fhR g8 I1¢ 431 3iR 20 Hiew
=reT | bR & 98 IR o7 31R 30 HIeR =/ell | I8 31U+ R WD
fig & fva g 8?

(1) 30 m (2) 80 m
(3) 50 m (4) 20 m
A IR B 3R 10 ¥R e &, v 98 I gsa1 2 31R 10
Hrex I 2 | 3R R &R IR 91 gs e a8 B 5 5, 15
HAIeR 3R 15 HIeR Il ¢ | 379, 8 AU AR fig | fopeeit

R 8?

(1) 5m (2) 10 m

(3) 15 m (4) 20 m

p B 3R q f&A1 | |t fovae fa= gia 29
(1) (p + ) &7 (2) pq fas

(3) (7p + q) fa= @) (7q + p) fa=

15 37, 2010 T T HI= a1 faT grm?

(1) IEEaR
(3) guarR

(2) oIfFaR
(4) FHarR

Space for rough work
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35. If A=26, SUN =27, then CAT =? 35.
(1) 24 (2) 27
(3) 57 (4) 58
36. Which one of the following diagrams best depicts 36.

37.

the relationship among Earth, Sea, Sun?

(1)@0
O O

(2) O

Identify the diagram that best represents the 37.
relationship among the classes given below :
School, Women, Children

(1
OO
o (LD

2 (DO

CLASS - VIII

ZONE - 1

afg A = 26, SUN = 27 &, a1 CAT = ?

(1) 24 (2) 27

(3) 57 (4) 58

frrforRaa | &1 |1 3R gedl, 9%, |d & 419 |Fag &l

qaTTg ®0 I S2TdT 8P

(1)@0
O O

(2) O

I ARG DI Uga = B ofl A9 T M0 g9t B 9 Fae b
FaTTq WY | ST 8—
T, AR, 9

OO0
o (D
@« (DO

Space for rough work
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38. Sita is elder than Swapna. Lavanya is elder than

39.

40.

Swapna but younger than Sita. Suvarna is younger
than both Hari and Swapna. Swapna is elder than
Hari. Who is the youngest?

(1) Sita

(2) Lavanya

(3) Suvarna

(4) Hari

If 'clock’' is called 'television', television is called
'radio’, radio is called 'oven', oven is called 'grinder’
and grinder is called 'iron', in what will a lady bake?
(1) Radio

(2) Oven

(3) Grinder

(4) Iron

In a certain code 'MOTION' is '33' and 'CLASS' is
'14' then how will 'GRASP' be written in that code:
(1) 41

(2) 14

(3) 36

(4) 24

38.

39.

40.

TEST CODE
2804

AT W A IS S | Ao W F 81 2 <ifepT Hiam 4 vl
2| gt BR &R W S A B B | Wen R | 9 T
T BIST DI 2?2

(1) e

(2) AT

(3) gaort

4) &8

TS DI 'ATET B8N WY, AT U Al forsad e
(1) Radio

(2) Oven

(3) Grinder

(4) Iron

fe fo<ft |81 § 'MOTION' &1 '33' 3R 'CLASS' &1 '14
P8 S ol 'GRASP' &1 T B8l SR :

(1) 41

2) 14

(3) 36

4) 24

Space for rough work
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41. A matchstick struck on a matchbox catches fire 41.

42.

43.

44.

45.

easily because :

(1) Friction may cause fire

(2) of chemical reaction

(3) Force heated the match stick

(4) None of the above

It is difficult to walk on an oily floor because :
(1) Floor gets spoiled

(2) There is more resistance

(3) Force of friction is high

(4) Force of friction is very less

Ball-bearings are used to convert static friction into 43.

(1) viscous force

(2) sliding friction

(3) rolling friction

(4) None of these

A force applied on a moving body may :
(1) bring it to rest

(2) increase its speed

(3) decrease the speed

(4) all of the above
A mirror has surface :
(1) rough

(2) polished

(3) dark

(4) all of these

PART-C : PHYSICS

42.

44.

45.

CLASS - VIII

ZONE - 1

#iferd @ fea) U= Arfery @ et B o= UR T ¥ ST
T ST § i

(1) ET < 37T T el &

(2) IrTafD Srfwfshar |

(3) g 7 Hifersd B} <frefl o1 79 faran

(4) SR H A BT T8

et wel R FerT Bfod grar g i ¢

(1) ®l @RT9 8 Il ©

PWERKIECRULNER

(3) =vvT 9t AfSH BT B

(4) TdvT 9 9gA B BT B

AR &1 ITAIT e gv07 o1 f7=1 § aRafid ==
Eﬁf?fl‘(’ﬁ»‘ﬂ'[?rﬂﬂ'l%:

(1) 29 9

(2) e arer gy

(3) uferT TrEoy

(4) ST | DTS T8

U A v IR ¥ T 1 9 fARTHTaReT § 1 ol ©
(1) 9 fa=mTa=en § @M & forg

(2) SH®! AT DI §T Ahall &

(3) SHD AT DI HH B DT &

(4) SR FHT

T U B JT Bl 8

(1) gred

(2) diferer

(3) 3y

(@) T

Space for rough work
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46.

47.

48.

49.

50.
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The strength of force is expressed by :
(1) weight

(2) mass

(3) magnitude

(4) longitudinal force

Choose the correct option for force :
(1) force is vector quantity

(2) force is scalar quantity

(3) force exist without interaction of two object

(4) None of these

If light falls perpendicularly on a plane mirror, what 48.

will be the angle of reflection :
(1) 45°

(2) 90°

(3) 180°

(4) 0°

Force exerted by the muscules is known as :

(1) mechanical force

(2) gravitational force

(3) electrostatics force

(4) muscular force

Graphite powder is used in machine to :
(1) Enhace friction

(2) Enhace profit

(3) Reduce friction

(4) Reduce efficiency

46.

47.

49.

50.

TEST CODE
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9T DI &I o P R Fad P ST B

4 & forq 921 faaved &1 gfg :

(1) 9 Us Ao f g

(2) 9 o Atfew A 2

(3) 9 Q1 3T B IR o & =1 SuRerd grar @
(4) 37 A DI 7TE

fE YT FATS YT UR oTRgad 3MTUfad glar B, 1 uRrad
I B

(1) 45°

(2) 90°

(3) 180°

4) 0°

RIERIINICHIEINCE IR IR

(1) Tt 9

(2) THATRYT T

(3) Rer Iggd 9«

(4) T 9

YPBTSC UrSSY Bl SYAT = F fhar S g :
(1) g9 gg= & forg

(2) < S & forg

(3) Y HH HA B forg

(4) S&TaT HH A B forg

Space for rough work
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51. Metals, whcih are soft enough to be cut. 51. %Tl—gf' S dTed & forT i -R9 8l &
(1) Hydrogen and oxygen (1) BTESISA g SiTaRITST
(2) Carbon and oxygen (2) D1 g SifeRiroT
(3) Potassium and sodium (3) urcfRrgH g A

52.

53.

(4) Sulphur and phosphours

Match the items given in column-I. Suitable with 52.

these given in columns-II

Column I Column II
(a) Diamond i. Sodium
(b) Soft metal ii. Gold

(c) Most ductile metal  iii. Hardest substance
(d) Gas

(1) a-ii, b-i, c-iv, d-iii

iv. Nitrogen

(2) a-iii, b-i, c-ii, d-iv
(3) a-i, b-ii, c-iii, d-iv
(4) a-iii, b-iv, c-i, d-ii

Match the items given in column I. Suitable with 53.

these given in columns II
Column I Column II

(a) acid rain

(b) Fire works

(c) Phosphorus

(d) Sun

i. Explosin

ii.Combustible at 25°C

iii. Nuclear reaction

iv. Oxides of nitrogen
and sulphur

(1) a-i, b-iv, c-ii, d-iii

(2) a-iv, b-i, c-iii, d-ii

(3) a-iv, b-i, c-ii, d-iii

(4) a-iii, b-ii, c-i, d-iv

(4) FEHR G BIEHIRA

ferferRad o1 e afem-1 3 oY T Biem-11 ¥ Y ™

Usl § ST WU H GATT BIfTY -

-1 BIH-11

() €1 i. Aifezs

(b) I5uTY ii. &I

(c) e o= &1g iii. @IRTH uaTef
(@) iv. AISEISH

(1) a-ii, b-i, c-iv, d-iii
(2) a-iii, b-i, c-ii, d-iv
(3) a-i, b-ii, c-iii, d-iv
(4) a-iii, b-iv, c-i, d-ii

fferRad &1 e ofem [ 9 o T dfe™m 11 § o
Hal ¥ Sugad U | gHferd $ify

B 1
(a) 3rirg aut
(b) veT™
(c) BIEHIRA
(d) ¥

(1) a-i, b-iv, c-ii, d-iii
(2) a-iv, b-i, c-iii, d-ii
(3) a-iv, b-i, c-ii, d-iii
(4) a-iii, b-ii, c-i, d-iv

i II

i. favmre

ii. 25°C R ggTeliad

iii. ST AR

iv. SIS 3R AHR B
TS S

Space for rough work

13

’.

A
“ U’ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph : 01572-255500 A




Y. CcLC

S54. A Natural gas stored under high pressure is 54.
(1) Petroleum (2) Coal gas
(3) CNG (4) LPG

55. The product obtained by DESTRUCTIVE 55
DISTILLATION of Coal is :
(1) Coal tar (2) Coke
(3) Coal gas (4) All of these

56. Which one of the following is not a metal. 56.
(1) Iron (2) Aluminium
(3) copper (4) coal

S7. In general metallic oxide are ? 57.
(1) Acidice (2) Basic
(3) Nutral (4) All of these

58. CNG is 38.

(1) Common nature gas
(2) Compressed natural gas
(3) Combustion natural gas
(4) Complex natural gas

59. Which of following is a combustible ?
(1) Sand (2) Glass
(3) Wood (4) Water

60.
in the candle flame.
(1) Blue zone
(3) Black zone

(2) Yellow zone
(4) Red zone

59.

There is a maximum temperature in different zone 60.
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61.

62.

63.

64.

65.

PART-E : BIOLOGY

CLASS - VIII

ZONE - 1

The most important function of cell membrane is 61. BIRIBI—f3rect BT FIH Agayvl F14 2 fh a8

that it:

(1) controls the entry and exit of materials from
cells.

(2) controls only the entry of materials into cells.

(3) controls only the exit of materials from cells.

(4) allows entry and exit of materials without any
control.

Reproduction by binary fisson takes place in :

(1) hydra

(3) amoeba

(2) plasmodium
(4) yeast

Which type of fertilisation occurs in frog ?
(1) Internal

(2) External

(3) Both Internal & external

(4) None of these

The liquid present in nucleus is known as :
(1) Nucleolus (2) Cytoplasm
(3) Protoplasm (4) Nucleoplasm
Which of the following cell does not have nucleus :
(1) Nerve cell (2) Red blood cell

(3) White blood cell (4) (1) and (2) both

62.

63.

64.
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Y. CcLC

¥

67.

68.

69.

70.

Tecno'23

TALENT EXPLORING CLC
NATIONAL OLYMPIAD

is a part that helps the sperm to penetrate
the ovum.
(1) Acrosome
(2) Middle piece
(3) Tail
(4) All of these
What is NPK ?
(1) Fertiliser
(3) Manure

(2) Weedicide
(4) None of these
Weeds are controlled by a chemical called

(1) Pesticides (2) Fungicides
(3) Weedicides (4) All of these

Organic wastes can be decomposed to form

, which can sustainably enhance the

nutrient content of the soil.
(1) compost (2) pesticide

(3) fertiliser (4) all of these

What is the function of Rhizobium bacteria in the
root nodules of leguminous plants :

(1) Sulphur fixation

(2) Oxygen fixation

(3) Hydrogen fixation

(4) Nitrogen fixation

66.

67.

68.

69.

70.
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Class - 8th

Paper Code : 2804

PART-A: PART-B: PART-C: PART-D : PART-E :

MATHEMATICS MAT PHYSICS CHEMISTRY BIOLOGY
Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans

1 1 26 2 41 1 51 3 61 1

2 4 27 2 42 4 52 2 62 3

3 1 28 3 43 3 53 3 63 2

4 1 29 4 44 4 54 3 64 4

5 3 30 4 45 2 55 4 65 2

6 3 31 4 46 3 56 4 66 1

7 3 32 1 47 1 57 2 67 1

8 3 33 3 48 4 58 2 68 3

9 2 34 1 49 4 59 3 69 1

10 1 35 3 50 3 60 1 70 4

11 1 36 1

12 1 37 3

13 3 38 3

14 1 39 3

15 1 40 2

16 4

17 2

18 4

19 2

20 2

21 3

22 1

23 2

24 2

25 2
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